Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. =Max. Marks: 100
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1 a. Solve d }3’ - 63 }2’ + 1,1 @%6y =0 (06 Marks)
X
b. Solve (D> -4)y h(2x — 1) +3* P (07 Marks)
c. Solve (D*+ 1)y, x by the method of variation of parameters. (07 Marks)
Ty, ¥ s
& F % g,
4@% “«%&;3?

2 a. Solve D¥-9DP*+23D-15)y=0 i (06 Marks)
b. Solvey! -4y +4y=8 (szx + Xéi (07 Marks)
¢. Solve ﬁ—%— + 2d—y (07 Marks)

dx* dx
2 o

3 a. Solve (x D +xD + l)y = sm (2logx) | & ¢ (06 Marks)
b. Solve x*p* + 3x ¢ ) MW% (07 Marks)
c. Find the general* ¢ (07 Marks)

4 a. Solve ( x»+ 1) y'-2(2x+1) h (06 Marks)
b. p>F 2py cotx—y* = 0%~ ) (07 Marks)

'general solution @%;(? “ e +p ezy =0 by using the substitution X =¢*, Y = ¢&’.
> o (07 Marks)

il

ial differentialﬁi eiluatlon by eliminating the function from
N, (06 Marks)

=sinx sin ﬁryhich —g—f,-=—2sinywhen x =0 and z = 0 when y is an odd

(07 Marks)

o*U o*U
=C? e

(07 Marks)
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6 a. Form the partial differential equation

the function from

fx+y+z,x*+y' +2z)=0 (06 Marks)
Vil I 0z
b. Solve 5},——2— +z=0 given that z= cosx and — 4 (07 Marks)
' I o o
c. Obtain the variable separable solution of ong @&@enswnal heat equatloﬁ‘«—t— = O Py
‘ (07 Marks)
7 a (06 Marks)
o 00 _y & W il
b. Evaluate ”—dydx Bgf%&angmg the order of uye%&ﬂcn (07 Marks)
“r’&%“
c. Derive the relation.b ween Beta and Gamma ﬁxﬁctlon as B(m,n) = I‘_@L(n) (07 Marks)
/ S ['(m+n)
8 a Eval Tyt 4 2% )dx dys ‘@%‘%
valuste | j’ I(x +y? +2%)dx yggj % (06 Marks)
-c-b-a i%;g%" iy,
Find the area between the parabolas y* = 4ax and «%’2 " (07 Marks)
/2 fté.2 A
Tl (07 Marks)
(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)
1
. (07 Marks)
S0+
c. Solve by using Lapla@e transform y” + 4y’ + 4y = ¢™. Given that y(0) = 0, y'(0) = 0.
(07 Marks)

* %k k k %
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